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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udienefi @auem U 999 9= W AW SiHaEa: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) |t I T A AEE ¢ |

All the questions are compulsory.
3) Yk U¥H 1 I & TS I-Yferent | & ford |

Write the answer to each question in the given answer-book only.
4) @ i | e @Ug €, 39 At & W U |y ¢ o

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5) U U & R 9 st wurw | Rt yer B g/ o / e g w = amn
¥ T A A F@ A
If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) U 1 IW oG | Y U9 1 AT 1avd ot |
Write down the serial number of the question before attempting it.

7) o shHieR 21 @ 23 Tek T aTieh farehed 8
There are internal choices in Question Nos. 21 to 23.

8) ot IwR-fEn % UBi % A 3iR RiRaw| Al w1 T B A, A SW-gfE %
aifem gst W iR 3= fovst oirel | wea 31w T eE o 3|
Write on both sides of the pages of your answersbook. If any rough work
is to be done, do it on last pages of the answer-book-and cross with slant
lines and write ‘Rough Work’ jon them.

9) Uy huTeh 21 T AT UIE YUR W SISt
Draw the graph of Question-No. 21 on graph paper.
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GvuE - A

SECTION - A
(aegfe wE efaegaters W)

(Objective and Very Short Answer Type Questions)

1) 73 g a9l o SW S T8 foshed 9o X S giEre | faRan|

Answer the following questions and write them in the answer book by selecting the
correct option.

i) 196 o STHISH UHEEVSE ht TIAl 1 ATHA 2 [1]
AN 1 SOV
|q) 4 g 6

The sum of the powers.of the prime factors of 196.is

A) 1 B) 2
C) 4 D) 6
i) afe fgam afiemur X — kx+4 =0 % g 99 g, at K 1 °F gem - [1]
A) =+l q9) 12
|) 13 g) *4

If roots of the quadratic equation x*> —kx+ 4 =0 are equal, then the value of

kwill be -
A) £1 B) +2
Cc) =£3 D) =4
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iii) forg (3, 4) F y-erer @ g8 enft - [1]
) 1 ) I
|) 3 q) 4

The distance of the point (3, 4) from the y - axis will be -

A) 1 B) 2
C) 3 D) 4
iv) 3x+2y=11 W uqE F@ TN FAE - [1]
) (1,4) )7 (2,3)
|/ (3.9) 7) 11(1)3)

The pair satisfying 3X+2y =11 is =

A (1,4 B) (2,3)
C) (3,5) D) (1,3)
v) Taam wie 34352 + 10X ++/3 = 0 @ e gm [1]
H) 8 ) 30
|) 46 3) 64

Discriminant of quadratic equation 3./3x2 + 10x++/3 =0 willbe:

A) 8 B) 30
C) 46 D) o4
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vi) afr18,a b, 3uarR IGt B @ a+ b & AW m - [1]
) 7 T) 11
/) 15 g 19

If 18, &, b, -3 are in A.P., then the value of a+ b will be :

A) 7 B) 11
C) 15 D) 19
vii) 3sec45° cos45° @ HIA g — [1]
) 0 /) 1
") 2 3 3

Value of 3sec45° cos45° will be :

A 0 B) 1
C) 2 D) 3
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vili) @ i a8 Siten Rraeht ovars g i B & S 8, wEerd § - [1]
a)  Proaavg ¥) =M
|) & 7) ity

A chord of a circle, whose length is twice the radius of the circle, is called :

A) Sector B) Diameter
C) Area D) Circumference

iX) Uk 3w hi Breen 3.5 Tt 2, At 9w ht aiie gl - [1]
1) 11w ;) 229
®)  33% ) 44w

Radius of a circle1s 3.5 cm. Find its circumference.

A) 1lcm B) 22cm
C) 33cm D) 44 cm

X) O S TEUT U5 SEher 486 T Bt @, I <Rt YT T W9 ERM — [1]
;) 6aH ;) 7ad
|w) 8w 3) 9w
The total surface area of a cube is 486 cm?. Measure of side of the cube will
be -
A) 6cm B) 7cm
C) 8cm D) 9cm
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xi) @e3,5,7,4,2,1,4,3 R4 % agA® g - [1]
) 1 | 3
|) 4 3) 7

The mode of the distribution 3, 5,7, 4,2, 1,4,3 and 4 1s -

A) 1 B) 3
C) 4 D) 7
Xii) Ueh UT® oAl Thehd W 4 A TSN 37k 7 i Tehdl AT hifem) [1]
1 1
H) 5 ) 3
q) 3 'AY
1 5

In a throw of a die, determine the probability of getting a number more than 4 :

1
A)E B) 5

C) D) 1

3
4

2) TrfoRem gt § fiws w2t <t gid wed ge SRRt | faau)

Fill in the blanks in the following questions and write them in the answerbook.

i) 95 @ 152 = wgww gHmEnes (HCF) H [1]
Highest Common Factor (HCF) of 95 and 152 is :
i) FAWRETEEga Tt W@ Wi S Akt 2| [1]

tangent can be drawn from a point on the circle.
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cos® 45° w1 AH 2 [1]

The value of cos?45° is

T AUT I T T T IHAS foreg i ed 2 [1]

The common point of the circle and its tangent line is called

v) a5, 7,9, X & aurR ’ied 9 g, @t X %t A g [1]
If Arithmetic mean of a distribution 5, 7, 9, X i1s 9, then value of X will
be

vi) S UTEl Rl Uk |1 Thehel X 37ehi SR A7 3T <hY TTfrehat gl [1]
In a single throw of two dice; probability-of-getting a total of 7 will
be

3) eifd YIS T

Very short answer type questions.

i) ko fora wm w ardieo gm 3X -2y =0 qen kx+5y =0 & 3= g g e [1]
For which value of K, linear pair 3Xx—2y =0 and kx+ 5y =0 will have Infinite
Solutions?

i) fgom wdfieor ax® + bx+ c=0 % ot 7 & w sferemd g fafau) [1]
Write the Sridharacharya formula to find roots of quadratic equation
ax’ +bx+c=0-

i)  Toret TR 9€t (ALP.) o1 92 Ug “Q” ud "Eei=R “‘d 7 g, i utean ug @ grm e[ 1]
What will be the Fifth term of a Arithmetic Progression (A.P.) whose First
term is “@” and common difference is “d ”?
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iv) EHEY 3Th{cal i Ui Hif| [1]

Define similar figures.

2tan30°
V) T @n?30°

1 HH A R [1]

2tan30°

Find the value of m.

Vi) \J1—cos?g B EM @ =60° W @ Hie] [1]

Find the value of /1 £ cos2 @ at @ = 60°-

vii) 10 wiex St HiAr o fIwer 9§ 9ot w ek forg w5 stamma s 30° 31 fag B Hem &
YR | g e 2ufi? [1]

From the top of 10 meter high tower, angle of depression at a point on earth is
30°. What will be the distance of point from the base of tower?

vill) T 3R T h RS AUT 3HehH! BT hl THATg 1 STAWE |:./3 T, @ G& o 371
HIUT A H) [1]

If ratio of length of a vertical rod and length of its shadow is 1:4/3, then find

the angle of elevation of Sun.

ix) 3 @ Bremn e ueh g e qen g O @ 5 At o fora fag P & o ot < v wamd
it sk et 7 ferRau [1]

Draw a circle with centre O and radius 3 cm and draw two tangents to the
circle from a point P which is 5 cm away from its centre and write the
measurement of them.
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X) 5 Ot e usk Waravg AB Wit ta 3@ 2 : 3 o srqur | fawfa i) gat aw @
g feaRau) [1]

Draw a line segment AB of length 5 cm and divide it into the ratio 2 : 3. Write
the measurement of both the parts.

xi) el o o P 3w 9w @ @iy §, @ Beoeg § g W e et it @ A
I A ? [1]

If the sector of a circle is a quadrant of that circle, then what will be the
measure of the angle formed by the sector on centre?

Xil) TS THR | Wl T3 52 Ui <hl Uk TSt A | Teh U HRTeN ST 21 39 U % ggeN g
1 TR A i [1]

A card isdrawn from a well shuffled deck of 52 cards. Find the probability of
it being a ten.

s - 9
SECTION - B
) 13
4) wﬁﬁamawmﬁamml [2]
. : . : 13
Write down the decimal expansion of the rational number 5
5) ®gUE X* —X—6 % Y& 7 il [2]

Find the zeroes of the polynomial x* — x—6.
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6) foam iRt 4x2 —12X—9 =0 % Al ht Tehid T Tl RS | [2]
Find out the nature of roots of the quadratic equation 4x*> —12x—-9=0.

7) Terga (0, 0) 3R (5, —3) W SAIe AT {W@NEUE & AeA fog o Founes 7@ dhie? [2]
Find the co-ordinates of the mid point of the line segment joining the points (0, 0)
and (5, -3).

8) Uw THAd WA W Wt HAR h BrEn 3\ feufd 7 40 wfiex sifires el g At @ wafen g9 @
I 0T 60° | gt 30° 7 Al gl AR it T Ja i) [2]
The shadow of a tower on-a level ground is increased by 40 meter, when the
altitude of the Sun changes.from 60° to 30°: Find the height of the tower.

9) 6 Bt YA & Y ATt Ueh HASTERIYS chi Lol S0 SR TR Uk 31 s 1 W i,

. x c o 2 .
Forereht sgmd fau 7w Fregst o1 S sgsmat <t < TR [2]
Construct an equilateral triangle whose measurement of side is 6 cm and then
construct another triangle whose sides are 3 times the corresponding sides of the
given equilateral triangle.

10) 4 @it B o U g9 W UE @ T W@ it S Uk g % SH gl [2]
Draw a pair of tangents to a circle of radius 4 cm, which are parallel to each other.
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11) =t gt wrEd BT & St sRIER g, it fg it o6 3 Brys saimem g 82 [2]

If the area of the two similar triangles are equal, prove that they are congruent?

12) ue g ht Breen 7 Ot @ 9 Uk WY gRT theg W 3TANa ot 60° 31 38 rouag w1 gawa
T i [2]

Radius of a circle is 7 cm and the angle subtended at the centre by an arc is 60°.
Find the area of this sector.

13) U Vi o fs=Ten i forder Somg 4wt B aen gaek oxita Rl o uftmm (ufifemt) 18 et siv
6 |t €1 38 fs=rer o ok IS &It s AT [2]
The slant height of a frustum of a cone-is4 cm and the perimeters (circumference)

of its circular ends are 18 cm and 6 cm. Find the curved surface area of the
frustum.

14) 2 uai, d @ g & SRaT 64 T 2, o Hold Welehl ohl TSR Uk 319 ST AT 21
aRum g1 T I St i i) [2]

Two cubes each of velume 64 cm’® are joined end to end. Find the surface area of
the resulting cuboid.

15) = SRR s i 7iga Ji Hifm) [2]

X [ 1|2 3 4 5 6

f |24 5 4 2 2

Find the mean of the following frequency distribution.

X [ 1|2 3 - 5 6

f 124 5 4 2 2
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16) uw fesa @ § ot &, 5 Hthe Sl 3R 2 R B 39 foat ® | Uk e Argesan fHenren S
2| zEeht = WiRtreRan 2 fom fremtem T hen [2]

() o @? (i) T TE2e

A box contains 8 red marbles, 5 white marbles and 2 green marbles. One marble is
taken out of the box at random. What is the probability that the marble taken out is :

(1) red? (1) not green?
G UE - 9
SECTION - C
17) & gem 40 SFTH YuUIishl <l T STd <hifeg 16 | fasmee 2 [3]

Find the sum of the first 40, Positive Integers divisible by 6.

18) 3| frye w1 g T Fitste fwes 3 (2, 3), (=1, 0) @2 (2, 4) 2 [3]

Find the area of triangle whose vertices are (2, 3), (-1, 0) and (2, —4).

19) T N o B & Uik 1 e | QU g 1 3R Highe {1 ehifeg| [3]
TATeh 0-10| 10-20 | 20-30 | 30-40 | 40-50
B B T 4 28 42 20 6

The marks of students of a class are given in following frequency distribution.
Find their median.

Marks Obtained [0-10 | 10-20 [ 20-30 | 30-40 | 40-50

No. of Students | 4 28 42 20 6
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20) &5 O o ga W amg forg T & g wuet T@md TP aen TQ wii=ht 73 2| g hifswe for

Z/PTQ=2/0PQ 2l [3]
Two tangents TP and TQ are drawn to a circle with centre O from an external
point T. Prove that Z/PTQ=220PQ.

©Us - §
SECTION - D

21) T e aefiero m @t sTere™ Rt gr g iR - [4]

X+y=14
X-y=4

Solve the following pair of linear equations.graphically :

Xx+y=14
X—y=4
Fga/OR
Ueh hetl o 10 ferenferat 2 wifora it ugelt ufenfimn ® wm foram) afe wefeat & e agwt @
T @ 2 1t 71, 38 e o sftemiforda ve wd freun fif) [4]

10 students of a class'took part in a mathematics quiz. If the number of girls is 2
more than the number of boys, represent the situation algebraically and graphically.

22) fag i fF : [4]

/1_
LSA =cosecA—cotA
1+ cosA

Prove that :

\ /ﬂ =cosecA—cotA
1+ cosA

3tat/OR
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fog fikm s : [4]
(sin A+ cosecA)2 + (cos A+ sec A)2 =7+ tan® A+ cot> A

Prove that :

(sinA+ cosecA)2 +(cos A+ sec A)2 =7 +tan> A+ cot’ A

Find the mean of the following frequency distribution :

Class 0-20 | 20-40 | 40-60 | 60-80 (80-100
Frequency | 6 10 13 7 4
> > >
1205
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23) T ARl Fe 1 qgeTh F1d It : [4]

Eoli 10-25 | 25-40 | 40-55|55-70 | 70-85 | 85-100
AT 6 20 A 26 3 1

Find the mode of the following frequency distribution :
Class 10-25" | . 2540 | 40-554.55-70 {.70-85 | 85-100
Frequency | 6 20 -1 26 3 |

gt/ OR

= SrERaT e S e A1 it [4]
=t 0-20 | 20-40-| 40-60 | 60-80 (80-100
AT 6 10 13 7 4
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